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. -INSTRUCTIONS TO CANDIDATES

Do r;ﬁ ' %um over thls page unm you are told to do so ’
~Follow: al! instructions: carefully o ' =
_Answer all. questions. - : :
- The use: of calculators is NOT allowed

- This booklet consists of 8 printed pages including the cover page.



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 cany 2 marks each. For each

question, four options are given. One of them is the correct answer. Make your choice (1,

2, 3 or4). Shade the correct oval (1, 2, 3, or 4) on the Optical Answer-Sheet- - -
Cy 9 R b , (20 marks)

4. Which of the folloiing, when rounded off to the nearest thousand 16 8530007 7 L

2) 852 555
3)853 555

" 4)'853°655

2. Express_1;§~ as a decimal.
Press oo |

1) 0.013
" 2)013
3)1.03
4) 1.003-.
3. . The ratio of Anthony’s stickers to Ben'’s stickers. is 4 : 5. The ratio.of Anthony's stickers.

to Charles’ sfickers is 8 : 7. Find the ratio of Charles’ stickers to Ben’s stickers to
Anthony’s stickers.

1) 7:5:4
2)7:5:8
3) 7:10: 4

4) 7:10:8



4.

The QQIume of the cube shown below is 216 cm®. Find the area of the shaded face of
the cube. .

1) 6 cm?
2) 24 cm? -
3)3Bem®

4)4cm®

A group of 200 children was asked to choose their favourite drink. The pie chart below
- shows the number of children who chose each of the different types of drinks. Which
_drink was chosen by 35% of the children? ' 4

Smoothie

2) Orangé Juice
3) Smoothie

4) Soft Drink



6. Which of the following figures completes the other symmetrical half of the figure
below? ' B

... LineofSymmetry. . . . . ..

o e

ATl

\‘_._;.._;-




7.

Sally, Tania and Uma finished eating one pizza together. Tania ate % of the pizza.

Sally ate a smaller portion of the pizza than Uma. Which of the following shows the

- possible fractions'of the pizza Sally and Uma had eaten?

2)

‘  .’4.)‘

many more women than men are there in the judo class?

o saly e

Np

0~

@l | al= |

N Iy‘-x

ool.-s"

- There are 36 members in a judo class. 8 of the men is equal to _—— of the women. How

- 10



The mass of Parcel A is 9 kg. The total mass of Parcel B and Parcel C is 24 kg. What i is
the average mass of the 3 parcels?-

T3)33kg

10,

11,

. 4)57kg

Last year, Mr Linv’s monthly salarx was $1 000 Th:s year, hls monthly safacy_mcreases
by 12%. What is Mr le s monthly’ salaxy this year? '

1) $120
~.2) $880 _ .
3)$1120

. 4) $1440

Awheelofradluseunhasmmed 2% revohxhons Mattsmed:satcemewheelhas

travelled in terms of r?

o 1)20zem

2)40r cm

3)647 cm

4) 1607 cm



. 12 The figure below is not drawn to scale. ABCD is a trapezium. Find ZADC.

1) 53
273
3) 75°
) 108°

»

13.  Meredith used 108.06 g of flour to make 6 similar cupcakes. How much flour would she
- need to make 9 such cupcakes?

o DBOTg
Coysanzg
Cayesdeg

4) 97254 ¢



14. Lionelis x years old. Jim is 3 fimes as old as Lionel. Kenny is % as old as Jim. Express

Kenny;fs age-in terms of x in ye.é:s.

1) 5x
'2) 6x

43X

15. Amanda wanted to give $5 to Bernard so that they would both have the same amount of
money. However, Bernard gave $5 to Amanda instead. Amanda ended up with 6 tlmes
~ as much-money as -Bemard.. How much did Amanda have at first?

nse
- 3)$20 -

4) $24

** END OF BOOKLET A**
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Questions 16 to 25 cany 1 mark each. Write your answers in the spaces Donot
provided. For questions which require units, give your answers in the units write in this
stated. - | (10 marks)__ | Pa%¢

16. Listall the common factors of 18 and 45. .

 Ans:

17.  Find the value of 0.64 + 20.
~ Give your answer as a decimal.

Ans :

18. = Mr Tan drove from Singapdrev..to:Mé!acca:at 21 50. He reached Malacca at
02 00 the next day. How long did he take to reach Malacca?

Ans : ’ h




"19.

20.

21.

Refer to the square grid below. Which of the pomts on the square grid is
north-west of point J?

EXx ress—:—,’i asa efcenta e
PIESS 4pp 252 Pereemage.

Ans_' | ' %

ln a stadxum—, — of the spectators are ma&s What is the ratio of the number
' ,of female spectators to the number of male spectators in the stadtum‘? ' |

Ans

Do not
write in
this space




: . . . - Do not
22.  Simplify 17 + 9a— 8 3a. | | oy
S - - this spaee
'23.  What number rust be added to 907 100 to give a million?
Ans: _

24. ' Carol'mixed 52 ¢ of water with 22 ¢ of syrup to make some fruit punch. How

much fruit punch did Carol make’7 Give your answer in the simplest form.

Ans : ' _ ¢




- 25.

The diagraim below shows a scale balance.
-What is the mass of Object X?

Do not
‘writein
thisspace




Questions 26 to 30 carry 2 marks each. Show your working clearly and write your
answers. in the spaces provided. For questions which require units, give your
answers in the units stated. . (10 marks)

26. Mdm. Ng gave some money t to _he[ gr’andc-hild'ren. % of her money was given to

Xawer % of her remalmng money was gwen to Ya Llng The rest of the money : o

L _» was gwen to Zoe What fractnon of her money dld Mdm Ng glve Zoe?

Ans :

_27.  The figure below is made up « of 3 semi-circles. Find the area of the figure.

(Take 7 = <= )

Ans : cm

Do not
write in




29.

container?

essarens

1

'28. The container holds 270 cm?® of water when it is 3 filled. What is the height of the

Ané :

_emy

This unit shape is used to form a tessellation in the grid below. The boundary of

the tessellation has been drawn for you. How many unit shapes were used to
,form the tessellation below? _

Ans

Do not
write in
this




30. The line graph shows the amount of rainfall recorded from January to June. Do not
: . write in

' this

space
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How much more rainfall was collected in May than in February?

**END OF PAPER 1**
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1.

2.

_ . o :
3. é—m of ribbon was cut into 2 pieces. The shorter plece was 28 cm. What is .}

the difference beiween the longer plece of ribbon and the shorter piece of

Questions 1 to 5 cany 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions wh:ch require units, give

your answers in the units stated.
(10 marks)

Saﬁy saves $5w. d:al'i’y" Her b'réﬂier saves-$(3w - 1) more than her daily.

answer ln terms of w.

Ans:s_

At Good Deal Supermarket potatoes are sold at 85¢ per 100 g \fweka '

bought.

_A_ns ’Z» - kg

ribbon?

Ans : cm

paid $14.45 for some: potatoes. Find the mass of potatoes that Viveka . -

Donot write
in this space.

..How much do Sally and her brother save aitogether da!!y? Leave your: Sl e




4. The perimeter of a rectangle is 30 cm. What is the- greatest poss:ble area of | Do not write
the rectangle? : in this space.

Ans: : cm

i The fi gure below is not drawn to scale. AB.and CD are stratght hnes
ZAFC = 36° and £EFD is twice of LAFE Find AEFD

Ans ' ' °




For questlans 6to 18, show your workmg clearly and write your answers in the
spaces. prowded The number of marks available is shown.in-brackets|{ }atthe-
-end-of each quest;on or part-question. (50 marks)

6" Martln bOUth 3 ldentlcal red shirts and 5 lden'acal ‘blue shirts. The total__
el oot ‘of the ‘shirts ‘was $186: Each ‘blie shlrt costs $4 40 more than each
red shlrt What is the cost of one red shlrt’? ERRE o A

7. - The figure below, not drawn to scale, shows a parallelogram ABCD.
ZAFG = 81°, ZBAG = 22° and ZADC = 123°. Find ZABG. o

. Ans: _ {31

Do not write
in this space.




A laptop cost $3200. Mr Ong bought it at a discount but he had to pay an | Do not wiite
. additional 7% GST on the discounted price. In the end, Mr Ong paid atotal | '™ this Space.

~ of '$2396.80 for the laptop. What was the percentage discount Mr Ong
received for the laptop?

B T

The figure be!dw, not drawn to scale, is made ‘ub.:wof twO!dent:cal
right-angled triangles overlapping each other. Find the area of the
shaded part ABCD, where AD =3 cm. g R _

5¢cm -

9cm

Ans: - {3}




10. The bar graph below shows the number of visitors who visited a carnival Bo-not write -
for the first 6 months of the year. - . ; in this space.

In June, —;: of the visitors were adults and the number of boys was the

same as the number of v:s:tors in March What fractlon of the wsxtors ln
Jine were giris?

| Ans: - {3}




11. Apencosts 95¢ more.than a pencil.- Catherine bought twice as many | Do not write
pencils as pens. She spent a total of $53.60. She spent $2.40 more on the | ™ this space.
pens than the pencils. How many pens-did Catherine buy?

Ans: . [4]




les. What is | in this space.

-

ters of the circ

tfame

Janet cut out circles of the same size and pasted them on a rectangular strip | Do not write

of paper as shown below. AB.and-CD are d

12.

tal area of the shaded paris?

vasnaesade

[4]

Ang:



13.

trapezmm-. Flnd AQPR

60°;

Ans:

[4]

Do not
write in
this

space.




14.

. :_:(b) Atwhatt:me dldthevanreachTown B'? B DTN NI

A car and a van set off from Town C in opposite directions at 11 30. The car
travelled towards Town A at an average speed of 80 km/h while the van travelled

, Q-fat 14 ﬂO the van was Stl“ 15 km away from Town B

'(a) What was. the dlstanoe between Town A and Town B?

TownA TownC -~ TownB

Do not
write in
| this

1 space.

(b} {1}]

10




15.

- : Rosta used 44 umts of water She patd the cashler a 50-do!lar note and some-':;:_-j_:_ b
. '50-cent and 20-cent coins: The number of 50-cent coins: is ‘half the number-of N

The table below shows the rates of charges for water consumption in a month.

Amount of Waﬁer Used Charges per umt (cents)
i R T = = -t 137

i .. .20-cent-coins. How many 2_(_)-oent coins did the cashier receive from Rosia?

Ans :

11

141

Do not
write in

space.

Subsequent umts A T R POV




A it stall owner t spme pears,. apples- and. oranges.  For-every 2 pears, | Donot
‘there weré 3 apples For every: 9 apples there were 5 oranges. ' t";"'.“e'i"
. 1S

spéace.

Ms (@) - . [1-]

(b) 4]

12



17.

In a warehouse, % of the mobile phones are Brand A, 5 of the remainder are

.Brand B and the rest ar Brand C. . After Shlpplng out 20% of Brand A mobile

b 1
phones 25% of Brand B mobile phones and- ~-§ ‘of ‘Brand C mobile phones, there

left in the warehouse‘?

Ans : (a) . - 2]

() i3]

13

Do not

write in
this

‘| space.

_ 7..:,‘-(b) How' many more Brand A moblle phones than Brand C mob:te phones were: s




18. Atank measuring, 48 cm by 13 cm by 30 cm contained 2.62¢ of water.

(a) Tap X was m;;\gd on, with water flowinginto. the tank at 700 m¢ per |

mmut"' ‘When the tank was filled with water completely, Tap X was turned
- off: ng did it take for Tap X to- ﬁll up the:tank: oomp!etely'?

(b) Then Tap Ywas tumed ‘on; with. wateér - drammg out"of .the" tank ~at
. 936 ms -per: mtnute -15. mmutes Iater Tap Ywastumed eﬁ Hew much S CE R

o waterwas leﬂ lnthetank? .— DT A

Ans: (a)_

. (b)
** END OF PAPER **

14

(3]

2]

Do not
write in
this

_space.




EXAM PAPER 2015
LEVEL : PRIMARY6
SCHOOL : CHIJ ST NICHOLAS GIRLS’ SCHOOL

SUBJECT : MATHS
TERM - : PRELIMINARY EXAMINATION
PAPER ONE
Q3 _Jo4- Q5 _JQ6 Q7 Qs - 109 ]Qi0 -
014_|Q15 T
4§ 2
Q16139 _MQ17 0032 Q184%h "‘Q19e. on 8-% Q21.7 2 "’sz“"9;69-‘)"’-'

Q23. 92900 Q24.

Q25 230g -» 2kg30g= 2030g. 2030 +350+350=2730, 2kg 500g = 2500g, 2730-2500=230
4 4 3 3

Q26.2 31-3=31-2=232:32

b3 s’s" 4 5 . . . : .
Q27.462 cm? 14:2=7,2x7x7=154,2 x14% 14 + 2=44x 14 + 2 =616 + 2 = 308,308 + 154 = 462.

- Q28.18cm P> 2==6,6.+3=18 Q29.4 > SEEPICTURE .

N o
e T e ) ] ) [ ®
e e ? | S . -
/L, -
o - - - .
L J ® L J @ L ® L J

Q30. 45mm > 50 :10 = 5, 8 x 5 =40, 40 +150=190 (may), 1 x5 = 5, 150 -5 = 145 (Feb), 190 - 145 =45

- _Ql $13w-1 -)Stv +3w 8w 1 8w 1+5 13w— .
Q2. 1——kg 985(“” 85, $1445—$0 85 17,17 x'100 - 1700 1700g 1—-g

o :Q3 31_5cm -)ZBCM 0_28m —-m 0.28m OSQSm 0.595m 028m 0.315m,0315m 31-5(:m

Q4. 56cm? Q5. 96> m“?*f‘—- 48 48%2=96 Q6 $20.50 -944::5 22 30622 =205

. Q.4 -)180-123-57 57 22=35,180:35-81=64, 180-64=116, 180—116—22 42
Q8. 30%-) ,22.4,22.4x 100 = 2240, Mxloo 30

Q9375cm2-) X5X3 =759-3= 65X6 30

QlO Z31- ;— 53 2 x 4500 = 3750,3750 — 2000 = 1750, 750 _7

'4508 18

Q11 16 > Price > pen 9 +95¢, pencil ¥a, number < pen - 1u, Pencil - 2U,

Price of all pencils 3222 = 256, Price of all pens & 25.6 +2.4 =2.8, 1U(A+95¢) ¥ 28, 2ua $25.6, 20a +

2u(95¢) 56, 2Ua 35620 (95¢) , 25.6 56-2u(95¢0, 2u (95¢) D56 - 25.6 = 30.4,
1U (95¢) » 30.4:2 = 15.2, 1u $15.2:095=16,16x1=16



Q12.2322cm?>  120:4 =30, 3.14 x 30 x30 = 2826, 30 x 2 = 60, 60 x 60 =3600, 3600 - 2826 =774

,774 +4=1935, No. of shaded = 12, 12 x 193.5 =2322

Q13.35° 9 180 - 25 - 25 = 130, 180-60=120, 360-130-120=110, 180-110 = 70, 702 = 35.

Q14a. 365km => 2h 30mins = zih, 22 x80= 200,2-;- x 60 + 15 = 165,165 + 200 = 365

Q15.30 > 30 x 137 =4110, 44 - 30 = 14, 14 x 160 =2240, 2240 +4110=6350, 6350t =$6350, $63.50 - $50
: -$1350 15%2=30.

6 P:A:0,2:3,9:526:95=6:9:5

6:>1p (x4}, Ju+5ud4p;14uD4p, 24u - 144 D4p, 24u -144 -)14u, 24u ~14u 144,
0 =14.4, 6u +9u+5u> 144x )6+9+5)=288

AN .Q17a 2 Total -9 30!' mob:le phones (A}, of- mobtte phones 9 of remamder (B) —of remamder (C‘),‘-:

2+3+1 Y TR

..:-_‘-;,-;33'.96-10"2—-‘112 3 3= b

- Q17b. 72'-)25-6_19 228 9:12 10 258,3-1 _2‘ 8-2—6 6~; 12= 72

o g 2620 . 31 125 125
:QIBa 23 mmutes-) 2621 =z 620 m ._ 156 0 ‘4- ;EE—ZS;S'E 25 1_5—6- X 48 X13 = 16 100
.16, 100 700 =237 ' ST e ’ .
THE END

&|g>)o ~ %fxo w3

_B4g A2 2D = 182D
- 435)05 I‘fol{-a

— ’9:‘% ’*("‘t‘O"fO »%68 O




